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ARITHMETIC PROGRESSION

Example

1. Find the sum of the all odd natural number

from 1 to 150.....

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_VAtZdMtN57E9
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Watch Video Solution

1. Which of the following squences are A.P.? If

they are A.P. find the common difference. 

2,4,6,8,…

Watch Video Solution

https://dl.doubtnut.com/l/_VAtZdMtN57E9
https://dl.doubtnut.com/l/_IVgDsVQqecP5


2. Which of the following squences are A.P.? If

they are A.P. find the common difference 

2, 3, ,…

View Text Solution

5

2
7
3

3. Which of the following squences are A.P.? If

they are A.P. find the common difference 

-10, -6, -2, 2,…

Watch Video Solution

https://dl.doubtnut.com/l/_CeRYOGsQyfqB
https://dl.doubtnut.com/l/_bY0wfFJkM7Od
https://dl.doubtnut.com/l/_0oZkLZhvBqi3


4. Which of the following squences are A.P.? If

they are A.P. find the common difference 

0.3,0.33,0.333, …

Watch Video Solution

5. Which of the following seqences are .?

If they are  find the common difference. 


………..

Watch Video Solution

A. P

A. P .

0, − 4, − 8, − 12

https://dl.doubtnut.com/l/_0oZkLZhvBqi3
https://dl.doubtnut.com/l/_Nl0rlnBRMQyV
https://dl.doubtnut.com/l/_NMfNGrjzkOz7


6. Which of the following squences are A.P.? If

they are A.P. find the common difference 

- …

Watch Video Solution

, − , − ,
1

5

1

5

1

5

7. Which of the following squences are A.P.? If

they are A.P. find the common difference 3,

 …

Watch Video Solution

3 + √2, 3 + 2√2, 3 + 3√2,

https://dl.doubtnut.com/l/_NMfNGrjzkOz7
https://dl.doubtnut.com/l/_fs01bnIIoxqF


8. Which of the following squences are A.P.? If

they are A.P. find the common difference 

127, 132, 137, …

Watch Video Solution

9. write an A.P. whose first term is a and

common difference d in each of the following. 

a= 10 , d=5

Watch Video Solution

https://dl.doubtnut.com/l/_H6FxA0YtGdi4
https://dl.doubtnut.com/l/_pE0CFOG3piMK
https://dl.doubtnut.com/l/_S2xUA7VvSGGY


10. write an A.P. whose first term is a and

common difference d in each of the following. 

a = -3, d= 0

Watch Video Solution

11. write an A.P. whose first term is a and

common difference d in each of the following. 

a = -7, d = 

Watch Video Solution

1

2

https://dl.doubtnut.com/l/_S2xUA7VvSGGY
https://dl.doubtnut.com/l/_AIUTWZBUxJ4V
https://dl.doubtnut.com/l/_VJOa1WzKAELT


12. write an A.P. whose first term is a and

common difference d in each of the following. 

a = -1.25, d = 3

Watch Video Solution

13. write an A.P. whose first term is a and

common difference d in each of the following. 

a =6, d = -3

Watch Video Solution

https://dl.doubtnut.com/l/_VJOa1WzKAELT
https://dl.doubtnut.com/l/_Y15cSd3ZnNcf


14. write an A.P. whose first term is a and

common difference d in each of the following. 

a= -19, d = -4

Watch Video Solution

15. Find the first term and common difference

for each of the A.P. 

5,1,-3,-7

Watch Video Solution

https://dl.doubtnut.com/l/_c8VLqQwIS9mY
https://dl.doubtnut.com/l/_VqxHBi0u6buh
https://dl.doubtnut.com/l/_jCaM3VHW26Sl


16. Find the first term and common difference

for each of the A.P. 

0.6,0.9,1.2,1.5,…..

Watch Video Solution

17. Find the first term and common difference

for each of the A.P. 

127,135,143,151,….

Watch Video Solution

https://dl.doubtnut.com/l/_jCaM3VHW26Sl
https://dl.doubtnut.com/l/_fBFzYDynA9Eq
https://dl.doubtnut.com/l/_h96qSa4vK6VP
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18. Find the first term and common difference

for each of the A.P. 

, …..

Watch Video Solution

, , ,
1

4

3

4

5

4
7
4

1. Write the correct common difference from

the following A.P. 1,8,15,22,…

Watch Video Solution

https://dl.doubtnut.com/l/_h96qSa4vK6VP
https://dl.doubtnut.com/l/_l1vzXPku0nZL
https://dl.doubtnut.com/l/_8keG2dBdtyhj


2. Write the correct common difference from

the following A.P. 3,6,9,12,….

Watch Video Solution

3. Write the correct common difference from

the following A.P. -3, -8, -13, -18

Watch Video Solution

https://dl.doubtnut.com/l/_8keG2dBdtyhj
https://dl.doubtnut.com/l/_dKMEZXbW7FgJ


4. Write the correct common difference from

the following A.P. 70,60,50,40,…..

Watch Video Solution

5. Decide whether following sequence is an

A.P., if so find  term of the progression. 


-12,-5,2,9,16,23,30, …

Watch Video Solution

20th

https://dl.doubtnut.com/l/_N1VG2ieDai2d
https://dl.doubtnut.com/l/_HNyjYdtcY7ss


6. Given Arithmetic Progression 12,16,20,24, …

Find the  term of this progression.

Watch Video Solution

24th

7. Find the  term of the following A.P. 


7, 13, 19, 25, ….

Watch Video Solution

19th

https://dl.doubtnut.com/l/_H4lrb2ydyMux
https://dl.doubtnut.com/l/_sKGcrDYTGxwV


8. Find the  term of the following A.P. 


9, 4, -1,-6,-11,…

Watch Video Solution

27th

9. The  term and the  term of an A.P.

are 16 and 29 respectively, then find the 

term of that A.P.

Watch Video Solution

11th 21th

41th

https://dl.doubtnut.com/l/_XllThsegMBvv
https://dl.doubtnut.com/l/_a49mEUUUOGps
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10. In an A.P.  term is 7 more than 

term. Find the common difference?

Watch Video Solution

17th 10th

11. How many three-digit numbers are divisible

by 5 ?

Watch Video Solution

https://dl.doubtnut.com/l/_mdhW4UveqpXL
https://dl.doubtnut.com/l/_VdqUmg46CyY2
https://dl.doubtnut.com/l/_WOCMN8PZqgSI


1. In the natural numbers from 10 to 250, how

many are divisible by 4?

Watch Video Solution

2. 11,8,5,2, … In this A.P. which term is number

-151?

Watch Video Solution

https://dl.doubtnut.com/l/_WOCMN8PZqgSI
https://dl.doubtnut.com/l/_w1SUX80Ej5fv


3. If the  term of an A.P. is zero, then prove

that  term is double of  term.

Watch Video Solution

9th

29th 19th

4. If 
times the 
term of an A.P. is equal to


times its 
term, show that the 

term of the A.P. is zero.

Watch Video Solution

m mth

n nth (m + n)th

https://dl.doubtnut.com/l/_yXJO8EDoeYfn
https://dl.doubtnut.com/l/_mkwfPEmi17Og


5. First term and common difference of an A.P.

are 6 and 3 respectively : Find 

Watch Video Solution

S27

6. Find the sum of first 123 even natural

number.

Watch Video Solution

https://dl.doubtnut.com/l/_PQ80IByXv1mR
https://dl.doubtnut.com/l/_iX1mLjgrNBRQ


7. Find the sum of all even number between 1

to 350.

Watch Video Solution

8. Find the sum of all natural numbers

between 1 and 145 which are divisible by 4.

Watch Video Solution

https://dl.doubtnut.com/l/_LAkM4jGPhixK
https://dl.doubtnut.com/l/_n9WG1S0gl7GN


9. Sum of first 55 terms in an A.P.is 3300,find its

 term.

Watch Video Solution

28th

10. In an A.P.  term is 52 and  term is

128, Find sum of first 56 terms.

Watch Video Solution

19th 38th

https://dl.doubtnut.com/l/_CRLbErDKk0YZ
https://dl.doubtnut.com/l/_ejyXGiWC30yN


11. In an A.P. the sum of three consecutive

terms is 27 and their product is 504. Find the

terms. ( Consider the terms to be in ascending

order. )

Watch Video Solution

12. Find four consecutive terms in an A.P.

whose sum is 12 and the sum of 

term is 14. 

3rd and 4th

https://dl.doubtnut.com/l/_lSUvkwr2dBsQ
https://dl.doubtnut.com/l/_2V0niu6RvrFI
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(Let four consecutive terms be a -d ,a,a+d,

a+2d)

Watch Video Solution

1. There is an auditorium with 27 rows of seats.

There are 20 seats in the first row, 22 seats in

the second row, 24 seats in the third row and

so on. Find the number of seats in  row15th

https://dl.doubtnut.com/l/_2V0niu6RvrFI
https://dl.doubtnut.com/l/_8hJdJq5kLlr8


and also find how many total seats are there

in the auditorium?

Watch Video Solution

2. Kargil's temperature was recorded in a week

from Monday to Saturday. All readings were in

A.P. The sum of temperatures of Monday and

Saturday was C more than sum of

temeratures of Tuesday and Saturday. If

temperature of Wednesday was C Then

find the temperature on the other five days.

5 ∘

−30 ∘

https://dl.doubtnut.com/l/_8hJdJq5kLlr8
https://dl.doubtnut.com/l/_OsgM8wW6hCcw


Watch Video Solution

3. On 1st Jan 2018, Sanikadecides to save

Rupees 10,Rupees 11 on the second day,

Rupees 12 on the third day . She decides to

save like this . What would be her total savings

at the end of the year ?

Watch Video Solution

4. On the world environment day tree

plantation programme was arranged on a land

https://dl.doubtnut.com/l/_OsgM8wW6hCcw
https://dl.doubtnut.com/l/_60ESgXSWVPdB
https://dl.doubtnut.com/l/_0MZfGSk8KH45


which is triangular in shape. Trees are planted

such that in the first row there is one tree, in

the second row there are two tree, in the third

row three trees and so on. Find the total

number of trees in 25 rows.

Watch Video Solution

5. Sachin invested in a National Saving

Certificate scheme. In the  year, he invested

₹5000, in  year ₹7000, in  year ₹9000

1th

2nd 3rd

https://dl.doubtnut.com/l/_0MZfGSk8KH45
https://dl.doubtnut.com/l/_mkX9CaJQX3PD


and so on. Find the total amount that he

invested in 12 years.

View Text Solution

6. A man borrows ₹ 8000 and agrees to repay

with a total interest of ₹ 1360 in 12 monthly

installments. Each installment is being less

than the preceding one by ₹40. Find the

amount of the first and last installment.

Watch Video Solution

https://dl.doubtnut.com/l/_mkX9CaJQX3PD
https://dl.doubtnut.com/l/_NSoZLIPWPElr


Problem Set 3

1. The 4th term from the end of an AP -11, -8, -5,

…, 49 is

A. 

B. 

C. 

D. 

Answer: Fourth term from end given A.P. is

40

∴

https://dl.doubtnut.com/l/_bK3gVurAL1KI


Watch Video Solution

2. In an A.P.  term is 46, sum of 

term is 52. find the A.P.

Watch Video Solution

10th 5th and 7th

3. If sum of  terms of an A.P. is 7

and sum of  terms is -3 then find 

 term.

Watch Video Solution

3rd and 8th

7th and 14th

10th

https://dl.doubtnut.com/l/_bK3gVurAL1KI
https://dl.doubtnut.com/l/_oZTzl39pkIdr
https://dl.doubtnut.com/l/_wwIIQHJgt6h9


4. Two A.P's are given 9,7,5..and 24,21,18,….If 

term of both the progressions are equal then

find the value of n and  term

Watch Video Solution

nth

nth

5. The A.P. in which term -15 and  term is

-30. Find the sum of first 10 numbers.

Watch Video Solution

4th 9th

https://dl.doubtnut.com/l/_Tv5Qwm5wFKwx
https://dl.doubtnut.com/l/_Kikeb0eU43ks


6. Sum of 1 to n natural numbers is 36, then

find the value of n.

Watch Video Solution

7. In an A.P., first term is -5 and last term is 45.

If sum of all the numbers in the A.P. is 120,

then how many terms are there? What is the

common difference.

Watch Video Solution

https://dl.doubtnut.com/l/_PbwKTz0A1EZc
https://dl.doubtnut.com/l/_ZOXKMMIX4Mco
https://dl.doubtnut.com/l/_5piNhTNHmCxj


8. Split 207 into three parts such that these

are in A.P. and the product of the two smaller

parts is 4623.

Watch Video Solution

9. An AP consists of 37 terms. The sum of the

three middle most terms is 225 and the sum of

the last three terms is 429. Find the AP

Watch Video Solution

https://dl.doubtnut.com/l/_5piNhTNHmCxj
https://dl.doubtnut.com/l/_o9qR0JwOx4d2
https://dl.doubtnut.com/l/_ZPIIYmR95mWQ


10. If the  [sum of first 'p' and 'q' terms]

 Show that sum of its first (p+q) terms

is:

Watch Video Solution

Sp = Sq

(p ≠ q)

11. Show that the sum of an A.P. whose first

term is a, the second term is b and the last

term is c, is equal to `((a+c)(b+c−2a))/(2(b−a))

Watch Video Solution

https://dl.doubtnut.com/l/_ZPIIYmR95mWQ
https://dl.doubtnut.com/l/_yrSBDb99JpGT


Problem Set 3 Mcq

12. ₹1000 is invested at 10 percent simple

interest. Check at the end of every year if the

total interest amount is in A.P. If this is an A.P.

the find interest amount after 20 years. For

this complete the following activity.

Watch Video Solution

1. The sequence -10,-6,-2,2,…. Is

https://dl.doubtnut.com/l/_5LiCRZuZJZTL
https://dl.doubtnut.com/l/_J0PAMPxuFOo5


A. is an A.P., Reason d = -16

B. is an A.P., Reason d = 4

C. is an A.P., Reason d = -4

D. is not an A.P.

Answer: B

Watch Video Solution

2. The first four terms of an Ap whose first

term is -2 and the common difference is -2 are

https://dl.doubtnut.com/l/_J0PAMPxuFOo5
https://dl.doubtnut.com/l/_3oicQFHc84Ls


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

−2, 0, 2, 4

−2, 4, − 8, 16

−2, − 4, − 6, − 8

−2, − 4, − 8, − 16

3. What is the the sum of first 30 natural

numbers? A)464 B)465 C)462 D)461

https://dl.doubtnut.com/l/_3oicQFHc84Ls
https://dl.doubtnut.com/l/_8XVnzXZbBtrB


A. 464

B. 465

C. 462

D. 461

Answer: B

Watch Video Solution

4. For an A.P. if .then t7 = 4. d = − 4

a = …. .

https://dl.doubtnut.com/l/_8XVnzXZbBtrB
https://dl.doubtnut.com/l/_DQBpCPj97QJl


A. 6

B. -7

C. 2-

D. 28

Answer: D

Watch Video Solution

5. For an A.P. if  then a = 3.5, d = 0, n = 101,

tn = ….

https://dl.doubtnut.com/l/_DQBpCPj97QJl
https://dl.doubtnut.com/l/_9j60HDaLb7bH


A. 0

B. 3.5

C. 103.5

D. 104.5

Answer: B

Watch Video Solution

6. If the first two terms of an A.P. Are -3 and 4,

then what is the 21st term of this A.P. ?

https://dl.doubtnut.com/l/_9j60HDaLb7bH
https://dl.doubtnut.com/l/_kGxBrdSQ9xcj


A. -143

B. 143

C. 137

D. 17

Answer: C

Watch Video Solution

7. If for an A.P.,  then 

A. 5

d = 5, t18 − t13 = ….

https://dl.doubtnut.com/l/_kGxBrdSQ9xcj
https://dl.doubtnut.com/l/_TxhcpiIIUbiB


B. 20

C. 25

D. 30

Answer: C

Watch Video Solution

8. The sum of first five multiples of 3 is

A. 45

B. 55

https://dl.doubtnut.com/l/_TxhcpiIIUbiB
https://dl.doubtnut.com/l/_w7b3yQldalyq


C. 15

D. 75

Answer: A

Watch Video Solution

9. The sum of the first ten terms of the

A.P.`15,10,5,….is……

A. -75

B. -125

https://dl.doubtnut.com/l/_w7b3yQldalyq
https://dl.doubtnut.com/l/_9wKNqeYRlYHE


C. 75

D. 125

Answer: A

Watch Video Solution

10. In an A.P.,  terms is 1 and the last term is

20. The sum of all terms is 399 then n = ………….

A)42 B)38 C)21 D)19

A. 42

1st

https://dl.doubtnut.com/l/_9wKNqeYRlYHE
https://dl.doubtnut.com/l/_HiXAOXF2i6T0


Problem Set 3 Additional Mcqs

B. 38

C. 21

D. 19

Answer: B

Watch Video Solution

1. For an A.P. 4, 9,14,….  = ………t11

https://dl.doubtnut.com/l/_HiXAOXF2i6T0
https://dl.doubtnut.com/l/_ZDv5dUVhtIDE


A. 49

B. 54

C. 59

D. 44

Answer: B

Watch Video Solution

2. If a = 6, d= 3 then  = …… A)192 B)195 C)198

D)201

S10

https://dl.doubtnut.com/l/_ZDv5dUVhtIDE
https://dl.doubtnut.com/l/_90GTzc7Fk2Ja


A. 192

B. 195

C. 198

D. 201

Answer: B

Watch Video Solution

3. The sum of first  natural numbers.

A. 55

10

https://dl.doubtnut.com/l/_90GTzc7Fk2Ja
https://dl.doubtnut.com/l/_wmyVsyEkw3A7


B. 155

C. 310

D. 210

Answer: A

Watch Video Solution

4. Which of the following sequenece is not an

A.P.?

A. 0.5,2,3.5,5 …

https://dl.doubtnut.com/l/_wmyVsyEkw3A7
https://dl.doubtnut.com/l/_RjoofRtI8fzd


B. 22,26,28,31 …

C. 3,5,7,9, ….

D. 1,4,7,10….

Answer: B

Watch Video Solution

5. Find the missing term in the A.P.: -5, …… ,13

A)1 B)2 C)3 D)4

A. 1

https://dl.doubtnut.com/l/_RjoofRtI8fzd
https://dl.doubtnut.com/l/_mMKzcX8djT7q


B. 2

C. 3

D. 4

Answer: D

Watch Video Solution

6. Find the  of the following sequence for

which  A)24 B)2

C)10 D)none of these

t2

S1 = 2, S2 = 12 and S3 = 36

https://dl.doubtnut.com/l/_mMKzcX8djT7q
https://dl.doubtnut.com/l/_xXtNjJajJcd8


A. 24

B. 2

C. 10

D. none of these

Answer: C

Watch Video Solution

7. For an A.P. if  = 12 and d = -10 then find a.

A)-18 B)42 C)-5 D)21

t4

https://dl.doubtnut.com/l/_xXtNjJajJcd8
https://dl.doubtnut.com/l/_eeze9lhwoOs8


A. -18

B. 42

C. -5

D. 21

Answer: B

Watch Video Solution

8. The next two terms of the given sequene 1,

3, 7, 15, 31,… A)4254 B)62124 C)64128 D)63127

https://dl.doubtnut.com/l/_eeze9lhwoOs8
https://dl.doubtnut.com/l/_JlYOJ8xwuBnN


A. 42,54

B. 62124

C. 64128

D. 63127

Answer: D

Watch Video Solution

9. In an AP:
 (i) given a = 5,d=3, 
 = 50, find n

and 
.
(ii) given a = 7, 
= 35, find d and 
.

(iii) given 
 = 37, d= 3, find a and 
 .
 (iv)

an

Sn a13 S13

a12 S12

https://dl.doubtnut.com/l/_JlYOJ8xwuBnN
https://dl.doubtnut.com/l/_oQg881yhZApM


given 
 = 15, 
 = 125, find d and 
 .
 (v)

given d = 5, `S_

A. 5

B. 6

C. 7

D. 8

Answer: B

Watch Video Solution

a3 S10 a10

https://dl.doubtnut.com/l/_oQg881yhZApM


10. The sum of first n terms of an A.P.  = …..A)

 B)  C)

 D)none of these

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

Sn

[t1 + tn]
n

2
[a + (n − 1)d]

n

2

[2 + (n − 1)d]
n

2

[t1 + tn]
n

2

[a + (n − 1)d]
n

2

[2 + (n − 1)d]
n

2

https://dl.doubtnut.com/l/_wjxeRZFC0Olx


11. A meeting hall has 30 rows in all. There are

20 seats in the first row, 24 seats in the second

row and 28 seats in the third row and so on.

How many seats are there in the hall?

A. 136

B. 4640

C. 2340

D. 192

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_tBe3fIk0FHwB


12. State whether the given sequence is an A.P.

or not: …… A)anA.P. with d = 3

B)not an A.P. C)an A.P. with d = 7 D)can't say

A. anA.P. with d = 3

B. not an A.P.

C. an A.P. with d = 7

D. can't say

Answer: B

13, 23, 33, 43, 53,

https://dl.doubtnut.com/l/_tBe3fIk0FHwB
https://dl.doubtnut.com/l/_vX2VzJRYCfap


Problems For Practice

Watch Video Solution

1. Which of the following sequence are

Arithmetice progression ? If it is an A.P. then

write common difference. 

0,1,0,1,0,1,…

Watch Video Solution

https://dl.doubtnut.com/l/_vX2VzJRYCfap
https://dl.doubtnut.com/l/_0WoLGFNkcZvx


2. Which of the following sequence are

Arithmetice progression ? If it is an A.P. then

write common difference. 

Watch Video Solution

−10, − 13, − 16, − 19, …

3. Which of the following sequence are

Arithmetice progression ? If it is an A.P. then

write common difference. 

,….13, 23, 33, 43

https://dl.doubtnut.com/l/_nw4wIeOk2jcz
https://dl.doubtnut.com/l/_tQMhKtqP8DQ7


View Text Solution

4. Which of the following sequence are

Arithmetice progression ? If it is an A.P. then

write common difference. 

31,26,21,15,….

Watch Video Solution

5. Which of the following sequence are

Arithmetice progression ? If it is an A.P. then

https://dl.doubtnut.com/l/_tQMhKtqP8DQ7
https://dl.doubtnut.com/l/_OaCR8JR4r0jj
https://dl.doubtnut.com/l/_xBz1aShWm7SJ


write common difference. 

-1, , -2, , ……

Watch Video Solution

−3

2
−

5

2

6. Write an A.P. when the common differnce d

and the first term a are given. 

a = 11, d = 1.5

Watch Video Solution

https://dl.doubtnut.com/l/_xBz1aShWm7SJ
https://dl.doubtnut.com/l/_Lu5iNpvZjj5t


7. Write an A.P. when the common differnce d

and the first term a are given. 

a = 5,d = -5

Watch Video Solution

8. Write an A.P. when the common differnce d

and the first term a are given. 

a = -8, d = 0

Watch Video Solution

https://dl.doubtnut.com/l/_msyySWHpCOOK
https://dl.doubtnut.com/l/_6L3jxedvWED8
https://dl.doubtnut.com/l/_7rzV3mgl60Nm


9. Write an A.P. when the common differnce d

and the first term a are given. 

a = -3.5, d = -3.5

Watch Video Solution

10. Write an A.P. when the common differnce d

and the first term a are given. 

a = 10, d = -3

Watch Video Solution

https://dl.doubtnut.com/l/_7rzV3mgl60Nm
https://dl.doubtnut.com/l/_q5ogjXmwhaNo
https://dl.doubtnut.com/l/_6VceBtMFB58q


11. How many terms are there in the A.P.

187,194,201,…,439?

Watch Video Solution

12. Find n, if the  term of the following

sequence is 68. 

5,8,11,14,…..

Watch Video Solution

nth

https://dl.doubtnut.com/l/_6VceBtMFB58q
https://dl.doubtnut.com/l/_I4taVY74BFzT


13. If  term and the  term of an A.P. are

25 and 41 respectively, then find the  term.

Watch Video Solution

10th 18th

38th

14. How many three digit natural numbers are

divisible by 4?

Watch Video Solution

15. Find the eighteenth term of the A.P.1,7,13,19.

https://dl.doubtnut.com/l/_mKvswpy2rW0M
https://dl.doubtnut.com/l/_bqIyTYSgjMqR
https://dl.doubtnut.com/l/_Te2Y9h8ywR6f


Watch Video Solution

16. Find  from the following A.P. 4,9,14,….

Watch Video Solution

t11

17. Determine
 the 
 term from
 the end of

the A.P. 
.

Watch Video Solution

10th

4,  9,  14,   .,  254

https://dl.doubtnut.com/l/_Te2Y9h8ywR6f
https://dl.doubtnut.com/l/_8jpJ8kevxgPp
https://dl.doubtnut.com/l/_R0PUTpImvsUn


18. For what value of n, the  term of the

following two A.P.s are equal? 23,25,27,29,…..and

-17,-10,-3,4,….

Watch Video Solution

nth

19. The sixth term of an A.P. is 5 times the 

term and the eleventh term exceeds twice the

fifth term by 3. Find the  term.

Watch Video Solution

1th

8th

https://dl.doubtnut.com/l/_4iHI81row7g5
https://dl.doubtnut.com/l/_oWCFg62qqlNP
https://dl.doubtnut.com/l/_S53lpKOCwiYr


20. How many two digit natural numbers are

divisible by 5?

Watch Video Solution

21. Obtain the sum of 56 terms of an A.P.

whose  terms are 52 and 148

respectively.

Watch Video Solution

19th and 28th

https://dl.doubtnut.com/l/_S53lpKOCwiYr
https://dl.doubtnut.com/l/_OlGKHPtTa9rZ


22. If the 5th and 12th terms of an A.P. are 30

and
65 respectively, what is the sum of first 0

terms?

Watch Video Solution

23. Split 69 in three parts such that they are in

A.P. and product of two smaller parts is 483.

Watch Video Solution

https://dl.doubtnut.com/l/_9ttlqddLOq8I
https://dl.doubtnut.com/l/_cohhin1l2nvX


24. The first and the last terms of an A.P. are 17

and 350 respectively. If the common difference

is 9, how many terms are there and what is

their sum?

Watch Video Solution

25. Find four consecutive terms in an A.P. such

that the sum of the middle two terms is 18 and

product of the two end terms is 45.

Watch Video Solution

https://dl.doubtnut.com/l/_NzIiJsOl9fLM
https://dl.doubtnut.com/l/_TLbfMDxAH9Pf


26. Find three consecutive terms in terms in an

A.P. whose sum is -3 and the product of their

cubes id 512.

Watch Video Solution

27. How many terms of the A.P.: 9,17,25,..... must

be taken to give a sum of 636?

Watch Video Solution

https://dl.doubtnut.com/l/_TLbfMDxAH9Pf
https://dl.doubtnut.com/l/_QGiIxtPwicZR
https://dl.doubtnut.com/l/_WB6x585gzjUv
https://dl.doubtnut.com/l/_1wcN9Gq6F9TE


28. Find the sum of all natural numbers

between 100 and 1000 which are multiples of

7.

Watch Video Solution

29. A meeting hall has 30 rows in all. There are

20 seats in the first row, 24 seats in the second

row and 28 seats in the third row and so on.

How many seats are there in the hall?

Watch Video Solution

https://dl.doubtnut.com/l/_1wcN9Gq6F9TE
https://dl.doubtnut.com/l/_4XVE3pI2Stpo
https://dl.doubtnut.com/l/_CzRqhwFx8zhd


30. In winter, the temperature at a hill station

from Monday to Friday is in A.P., The sum of

the temperatures of Monday, Tuesday and

Wednesday is zero and the sum of the

temperature of Thursday and Friday is 15. Find

the temperature of each of the five days.

View Text Solution

31. Neeta saves in a 'Mahila Bachat Gat' ₹2 on

the first day, ₹4 on the second day, ₹6 on the

https://dl.doubtnut.com/l/_CzRqhwFx8zhd
https://dl.doubtnut.com/l/_H2XlctEz1Kjk


third day and so on . What will be her saving in

the month of February 2010?

Watch Video Solution

32. Mr. Shah borrows ₹4000 and agrees to

repay with a total interest of ₹500 in 10

installments, each installment being less than

the preceding installment by ₹10. What should

be the first and the last installment?

Watch Video Solution

https://dl.doubtnut.com/l/_H2XlctEz1Kjk
https://dl.doubtnut.com/l/_K7LJe1qkSAzS
https://dl.doubtnut.com/l/_S32cKCdm2d8C


Assigenment 3

33. A farmer borrows ₹ 1000 and agrees to

repay with a total interest of ₹ 140 in 12

installments, each installment being less than

the preceding installment by ₹10. What should

be his first installment?

Watch Video Solution

1. What is the common difference (d) of the

A.P. 2,-2,-6,-10….. ?

https://dl.doubtnut.com/l/_S32cKCdm2d8C
https://dl.doubtnut.com/l/_NuPALGyAyCLa


Watch Video Solution

2. For an A.P., if a = -3 and d = 4 then find 

Watch Video Solution

tn

3. Determine whether following sequence is an

A.P. 

2, -2, -6, -10,…

Watch Video Solution

https://dl.doubtnut.com/l/_NuPALGyAyCLa
https://dl.doubtnut.com/l/_h2JBPwqZbpqR
https://dl.doubtnut.com/l/_3L22iPtfZOiZ
https://dl.doubtnut.com/l/_ah8uitlenE2G


4. First term and common difference of an A.P.

are 6 and 3 respectively : Find 

Watch Video Solution

S27

5. Find the  term of the following A.P. 


7, 13, 19, 25, ….

Watch Video Solution

19th

https://dl.doubtnut.com/l/_ah8uitlenE2G
https://dl.doubtnut.com/l/_AJliNsxBrGPU


6. Find the sum of all numbers from 1 to 140

which are divisible by 4.

Watch Video Solution

7. A village has 4000 literate people in the year

2010 and this number increases by 400 per

year. How many literate people will be there till

year 2020?

Watch Video Solution

https://dl.doubtnut.com/l/_LqNa8xZm2Arl
https://dl.doubtnut.com/l/_M8sXQda5aAvZ
https://dl.doubtnut.com/l/_s68H3VAZR2NR


8. Find four consecutive terms in an A.P. whose

sum is 12 and the sum of  term is

14. 

(Let four consecutive terms be a -d ,a,a+d,

a+2d)

Watch Video Solution

3rd and 4th

9. If the sum of p terms of an A.P. is q and the

sum of q terms is p, then the sum of 

terms will be

Watch Video Solution

p + q

https://dl.doubtnut.com/l/_s68H3VAZR2NR
https://dl.doubtnut.com/l/_hrA656SuYHnN


10. Mr. Ajay Sharma borrows ₹3,25,000. He paid

₹30,500 in the first month and then each

instanllment becing less than the preceding

installment by ₹1500. How long will it take to

clear his loan?

Watch Video Solution

https://dl.doubtnut.com/l/_hrA656SuYHnN
https://dl.doubtnut.com/l/_QvqjL4pHWrc9

